3. BEDH

O

3. Name of Each Area

E&E BYHHE
Front Mounting surface 4]
=
° p
[2] J— [e10]
i
oo/ oo —
ojp| oo|l 0
13 ooopod D D D e]e]
N o o REAR SIDE o ) [ o
1 D@\svmvsmz — T
EE
Bottom
L
[e 3l
(1
&5 £ [z _ 2] = No. Name Description
[ ?;;\?20,7 — I Rs 2320 — T BT A/ L8 T 1 sigggt%ﬁable Interface for connection of RS-232C
Aos7z—2 |72 interface cable
[2] 351.:. 7/1}\'— R ER E@(Dm X102 (36~48N-cm) Huft(+ 2 bcc?g:g]u%c:tflnot?ng For inserting the M3 x 10 screw (36 to
48N-cm) included with this product
(o) | BEE - PR | EHEOWXEX T GE~4a-on &7 Sorew hole ) i
EN ommunication . .
— . For inserting the M3 x 6 screw (36 to
[4] i%ﬁ:l E R GOT~DEHIT I 2 13 ggfg\f’ horlneountlng 48N-cm) included with this product
[5] | Eteshi — [4] | Connector Connector for connection to the GOT

[5] | Rating plate —

AIGT-RS2% CHERMIE, BIES—TILDIF Y ZRAKIC L o TIF, GOT
ORFHFEENIRY 2 ETFBHTIHEEL/HYET,

BFHTITA, TRNENRMTTEEE, FARAKICEBEORMTITEE
EMYBATIEALLESL,

GOTA{AZEEAI
Back side of GOT ma

When A9GT-RS2 is used, the mounting fixture of the GOT interferes
with the connector due to the shape of the communication cable
connector.

Please substitute for the mounting fixture included in this product and
use the mounting fixture as shown in diagram below.

R —
00 00000 A9GT-RS2
0 00000
00 00000
R —

/T BES—TIars A
Communication cable connector

8 C DER&

This part

O

B e A9GT-RS2-U
Hege onde 1DM136

A9GT-RS2F 2 1) 7 ILEER—
A9GT-RS2 Type Serial Communication board User’s Manual

Fia—%—X<v=a7)L

OXELEDTEE @
(CEARNICDLTEHFEA LI

AUSGOTHEAICELTIE, A2 7LELLSBHRAVEELE
#(2, RLICHLTHRITEEEL>T, ELVLERIRVELTULV
CESBRELLLET,

BE, COIEBBEEAZRETIHILEOOAIONTEHLEE
DTT =Y VRTLELTORELED TEEICEHLTIE, CPU
A=Y bOA—HF—XT=ZaTILESBLTILES,

CO @RELDTEE @ TR RETBFEDS VU 2B,
DEBI ELTEALTHYETS,

F MR ER 1B AIC, BREKRAES Y2
DIER | < mrsrimmzzgsmmemrmesn
258

T, PRECHEZTLEGER I SARMENEE
ENBGEEEIUMHBTLTORENERE
ENnBHGE

I
I
IRV EBoIBAIS, BRAKRAEI YR :
I
I

e, AEE CESLESFETY, KRk > TEERLGHRIC
BUDKTHREMNAHY ET,

WFNLEELRNBRERH L TOETOTRTFoTLESLY,

AIZaT7IVRBEGEEICRYELTHEDD LS ITKYICRE
FTHREHIC, RTBREA—FETEBI VLK SICHBELLEL
E3 8

1B-68956-D (0512) MEE R4+ 300

@ SAFETY PRECAUTIONS @
(Read these precautions before using.)

When using Mitsubishi equipment, thoroughly read this manual. Also
pay careful attention to safety and handle the module properly.
These precautions apply only to Mitsubishi equipment. Refer to the
CPU module user's manual for a description of the PLC system safety
precautions.

These @SAFETY PRECAUTIONS @ classify the safety
precautions into two categories: “DANGER” and “CAUTION”.

{— Procedures which may lead to a \
@DANGER dangerous condition and cause
death or serious injury if not carried
out properly.

Procedures which may lead to a

ACAUT'ON dangerous condition and cause

superficial to medium injury, or

physical damage only, if not carried
out properly.

w properly. )

Depending on circumstances, procedures indicated by & CAUTION
may also be linked to serious results.

In any case, it is important to follow the directions for usage.

Store this manual in a safe place so that you can take it out and read
it whenever necessary. Always forward it to the end user.

(Bt LD EEIE] [DESIGN PRECAUTIONS]
AEER A CAUTION

@ HIERCBEEr—TILIE, TEBCBARAEELERRLIZY,
EELEZY LAWTREED,
100mLlEZ#BRELTHLTSEZEL,

JARIZ&Y, BREORRICHEYET,

@ Do not bundle control lines or communication wires together
with main circuit or power lines, or lay them close to these
lines.

As a guide, separate the lines by a distance of at least 100
mm (3.94 inch) otherwise malfunctions may occur due to
noise.

(Enft i+ EDFEEIE]

[INSTALLATION PRECATIONS]

OElR

&> DANGER

EFEHKRARHTI00-8310 RERHBFRARAON2-T-3 (RREL)
MITSUBISHI ELECTRIC CORPORATION TOKYO BLDG,2-7-3 MARUNOUCHI TOKYO 100-8310

AIZa7)E, TAR—IVREOBEMEEALTEYES,
Printed in Japan on recycled paper.

@ K1=y FECOTRKIZERT HBEE, LTTOERE S
BICTRMEEHRL THBToTLEEN
?*HE&EL&L\& 1=y OMBORBEORRIAY

@ RS-23207— T EARI= Y MEKT 2IHEE, #T60TE
’ZT—;)ﬂCPU{RUU)'%;'EE%%ﬂ(:'C@*HﬂE%ﬁL'C?b\B?:ro‘C
ZELY,

SHERLAGVE, REBEOREICAYES,

@ Before mounting or dismounting this module to or from the
GOT, always shut off GOT power externally in all phases.
Not doing so can cause a module failure or malfunction.

@ Before connecting the RS-232C cable to this module, always
shut off GOT power and PLC CPU power externally in all
phases.

Not doing so can cause a malfunction.




[Eft 1+ EDFEZEIE]

[INSTALLATION PRECAUEIONS]

/! II,._.‘

A CAUTION

@ A1=v hE OT1—H—XT =27 IILRBHO—REHDOE
WTHEALTLEEL,
—RHEHROBEUNORE CHEAT HL, BE, KK, RE
1%, HROBEHDIVEHILORRAICHEYFET,

@ GOTAIKICALI=w FEEFT DL E(E, GOTEFIICHEFL,
B R DERE LY BERTRHOM T T LI,
W;ﬁlj;;wﬁﬁlfﬁ%éut, BT ®E BIEORER
127y o
TR EHOTED L, OTARKOCRSOWBIZLS%E
T, 8, R[RMEORRICHEYET,

[ ) zgl:‘y FOEBEHSPCEFHRICIE, EEMSBLTE

L,
1=y FOBRBE BEORRICEYET,

Use this module in the environment given in the general
specifications of the GOT User's Manual.

Not doing so can cause an electric shock, fire, malfunction or
product damage or deterioration.

When installing this unit to the GOT, fit it to the connection
interface of the GOT and tighten the mounting screws in the
specified torque range.

Undertightening can cause a drop, failure or malfunction.
Overtightening can cause a drop, failure or malfunction due
to GOT or screw damage.

Do not touch the conductive areas and electronic parts of this
module directly.

Doing so can cause a module malfunction or failure.

(R LDFEFIE]

[WIRING PRECATIONS]

ANEE

A CAUTION

@ FEE7—JILIE, EHIII=y FOIRYLITEEL, 2
RY BT R DERE LY FEERTRHDMA T TS,
2R ST R CORFF IR B NE, TR RBEOR
BIZBYET,

ARV SBFF RO EFHTED L, F TPy FOWE
12k B5EH, RBEORRIGYFET.

Plug the communication cable into the connector of the
connected module and tighten the connector mounting
screws in the specified torque range.

Undertightening can cause a short circuit or malfunction.
Overtightening can cause a short circuit or malfunction due to
the damage of the screws or module.

[STARTUP AND MAINTENANCE

(3L Eif - BFEEDEEFIE] PRECAUTIONS]
OfEf& <& DANGER
@ BEFICRAVFRELZERELBLTLLZEL, @ Do not change the switch setting during power-on.

REEOREIZZYES,
[ #ﬁali DY COTOERE S EBIC TRAREM L THBIT>TK

zEn
§*H£Eﬁlﬂ;t\t d=y FOBELRBEORAICLEY F

o

Doing so can cause a malfunction.

Before starting cleaning, always shut off GOT power
externally in all phases.

Not doing so can cause a module failure or malfunction.

ANEE

A CAUTION

® Fa=vy hORE, FEFZLGEVTLIEZEL,
BiE REE 74 AKORRIZEYET,

[} :_;L::L:\y FOBBEHACEFHMICE, EEMSELTE

L

1=y FOREBE HEOREICLEYET,

@ 1=y MIEETHT7—JILE, BTFY FHDHDEE
93 TICEBERDBEBETOTHEEL,
T—ILEFH MdiEnoY, 450 2L ZEEL
BELTWEWE, 7—IL0OTFVYXPBEH, FIEOS
DRYGEICLDI= Y FOT—TLOWIR, 7—T LD
BARRICEPRBEORRCHZY ET,

® 1=y ISy —TLERYRBT T LEF, 77—
LB EFICH S TEI2B/OBVTLEEL,
A=y bTERESNIRE Ty —JILESI2kDE, 1=y
T —JILOHIR, T— T OERTRICK SBRBEDR
BIZBEYES,

® 1=y H:ﬁmnéﬁﬁl-li DYEMSN-ERBE SIS T,
AFGEISHFREL TV AHEREHEL TS,
HESERELALE, 1=y FOBBOCRBEDORREICY
YES,

@ Do not disassemble or modify any module.

This will cause failure, malfunction, injuries, or fire.

Do not touch the conductive areas and electronic parts of this
module directly.
Doing so can cause a module malfunction or failure.

Always secure the cables connected to the module, e.g. run
them in conduits or clamp them.

Not doing so can cause module or cable damage due to
dangling, moved or accidentally pulled cables or can cause a
malfunction due to a cable contact fault.

Do not hold the cable part when unplugging any cable
connected to the module.

Doing so can cause module or cable damage or a
malfunction due to a cable contact fault.

Always make sure to touch the grounded metal to discharge
the electricity charged in the body, etc., before touching the
module.
Failure to do so may cause a failure or malfunctions of the
module.

EMCIE S~ D3t
A9GT-RS2(Z, EMCIESITEA L1=60T (WA RISCER—% 0T DENRI
NHHER) ITERLIZBEOHENCIERICEELFET,
ENCIESEE DF#MIC DL TIE, FAT H60TOL—HF—X3 =217/
(IN—=F2xT7#H) EBRBLTIESL,

! =

AR1—Y—XT =27 LI, AIGT-RS2fE L) 7ILEIER—F (T
AQGT-RS2EBE L E£9) Dk, BEDBFRCDOVWTHALLDTY,

A9GT-RS2(3:, A985GOT (-V) /A975G0T/A970GOT/A960GOT (LA TFGOT & B
LET) ICEFEL, FAOHBEARS-23200 1V 2 2 EATH LI
Y, SEEY VY, B - YR ELERRTEET,

A=y MERS-2320r—T )&=y FTEICHERT SBEL A
STWETDOT, HlHMAg EICRY 51548, RS-23207—T LD
ARG AT —TLOMIFTEDRITEEZ LY ERA,

Conformation to the EMC Directive

A9GT-RS2 conforms to the EMC Directive only when connected to the
GOT (with CE logo printed on the rating plate) which conforms to the
EMC Directive. For details of Conformation to the EMC Directive, refer
to the using GOT User's Manual (Hardware).

1. Overview

This user's manual gives the specifications and the names of parts of
the A9GT-RS2 serial communication board (hereafter referred to as the
"A9GT-RS2"). Fitted to the A985GOT(-V)/A975GOT/A970GOT/
A960GOT (hereafter referred to as the "GOT"), the A9GT-RS2 can be
connected with computer link, other's PLC, or the like by using RS-232C
connector for peripheral.

Designed to connect the RS-232C cable at its bottom, this module does
not take up a space for the RS-232C cable connector and cable flexing
in the depth direction when mounted to a control box or the like.

@ #ht B —4 24 EEHE L T<3B& 1) Direct connection with other's PLC

A9GT-RS2

QHEHY UV ICEE LSS 2) Connection with computer link

RS2324 % 7 T —AMEEHEH) ~ U
Computer link with built-in RS232 interface

EHEBRED S AT LEBRIZDOULTIE, GOT-A900> 1) — X1 —H—X
I=aT7I (ERR) ZSBLTIEEN,

AIGT-RS2BAMH %, TREMEMNAOTNDHIEEHRL T LS,

Refer to the GOT-A900 Series User’s Manual (Connections System
Manual) for the configuration of each connection.

After opening the box, check that the following items are present.

(RERDOIEEIR]

[DISPOSAL PRECAUTIONS]

/! II,._.‘

A CAUTION

& & [ Name Quantity
A9GT-RS2 1 A9GT-RS2 1
s s . | M3 x 10 1 Communication board | M3x10 1
BIEA— FRAT D ["M3x6 7 mounting screw | M3x6 1
GOTHfF 1+ 8 1 GOT mounting fixture 1
2. 1t % 2. Specification
7 A T #% Item Specification
IELDY T (FR) 41 oF 9-pin D-sub (male) inch screw
rTLDHEALT fixing type

1¥57z=23%9% H— BT T () 1

17LE-23090-27 (D3CC)

O HREREXTHEER EXEEMEL TR TIESL,

Dispose of this product as industrial waste.

RARE & B COTHRAKISEEND

HE__E g %

Interface connector Daiichi Electronic Industry Co., Ltd.

17LE-23090-27 (D3CC)

Internal consumed current Included in GOT

Weight [g/lb] 90/0.20

—MRAEHRICEAL T, AT H0TOL—Y—XY =27 ILESHE
LTLEEL,

For the general specifications, refer to the using GOT User's Manual.



